
COMPUTABILITY /08/01/2024)

ZERCISE : Given F : NEN a fixed function and define

Bf = Geen1qe = f)

Theset By is saturated

Bf = Geen/ YeeBfY Bf = (f)

2 cases

I f is not computable

Bf = 0 B = N recursive

2 f 1s computable

* Bf is not 2e .
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Reat if f is finite f = 0 M
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let
o
be a total function sit. f = g : ↑

F mmm X

them g & Bf and f = Deg and feßf
fimite

hence by Rice-shopico By not ze .
I henc not recursive

(2 .
b) fis not finite

note that feB and Nef d finite DeBf

then By not ze. by Rice-shopino /hance By not recursive)

* F

* f = d ( f(x + Ve)

I 15 re-ance

e F iff there is some imput gelect
















